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nd full credit. (25 pts total)

Us'e Hess’s Law to calculate the A H for reaction 3 given reactions 1 and 2 (show work) (5 pts)_
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3, a. Give the eféctron configuration for the el erﬁglusing the notation 1s%, 2s5,..... (5 pts)
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b. Give the orbital diagram for the element S using lines for orbitals (label your lines to illustrate which

orbitals the lines represent). }_ G- 4 (Sipts)
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4. For the reaction shown, use the information for test 3 charts to calculate AH° (show work) (5 pts)
[ for generalized reaction aA + bB = cC+dD AH°={c* AH® * D)} —{a* AH(A) + b * AH(B)} ] useful info
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E;ra. Credit (di.scussed in 3/16 class) Which of the following is larger (size, first ionization energy, electro
: mt\'{‘) ? Fillin the blank with the larger element symbol. (4 pts, % pt each, % pt free)
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